
SM 700 2022 <2022><EU><F0503V3>
ACCESSORY PACK

59615

Pos Part Number Description Additional Text Quantity

0 76912008000 passenger handle bar left 1.00

0 76912009000 passenger handle bar right 1.00

0 76902182044C1 Handguard cmpl. SM 1.00

0 79602979044 Wrap-around handguard 1.00

0 27003138050 HEEL PROTECTOR LS 1.00

0 27003139050 HEEL PROTECTOR RS 1.00

0 0025080126 HH collar screw M8x12 TX40 4.00

0 60003040133 FOOTPEG LS+RS CPL. 1.00

0 75008023000 Washer tail section UT D=14mm 4.00

0 60408061050 RUBBER 14X6.5X2.3MM 2.00

0 58412080400 Rear reflector red 1.00

0 64112181100 Bracket for reflector 1.00

0 00063000019 BUBBLE WRAP 320 X 200 MM 4.00

0 54603048100 clip nut M6 2.00

0 7690304803301 Rear footpeg bracket left cmpl 1.00

0 7690304903301 Rear footpeg bracket right cmp 1.00

0 0025080166 HH COLLAR SCREW M8X16 TX40 4.00

0 58412040100 Rear view mirror, left/right 2.00

0 0025050126 HH collar screw M5x12 TX30 4.00

0 58412080300 REFLECTOR YELLOW ''CEV'' ONLY USA & AUS 2.00

0 0025080556 HH collar screw M8x55 TX40 4.00

0 76902079044 Mounting kit handguard 1.00

0 00063004012 HEADLIGHT MASK BOX 1.00

0 A63408096000 Displacement sticker set SM700 1.00

0 0024060136 HH collar screw M6x13 TX30 1.00

0 83008100020 SCREW M6X20X5,5 4.00

1 3215080EN Owner Manual SM 700 2022 1.00

29 76129099000 Vehicle tool kit 1.00


